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I.
The Nature of Growth 

Short-Run Changes in Capacity Use

The easiest kind of growth comes form increased use of our productive capabilities.

· We have illustrated the short-run limits to output with a production function.

· You can increase the production only if you are a point inside the PPF.

The way we achieve this in the SR is by increasing employment to full-employment productivity.  (In the short run all you can do is hire or fire).
Long-Run Changes in Capacity 

To increase output further we must expand the capacity.

To do so we have to shift the production possibility frontier – this implies an increase in potential GDP.

· To achieve large and lasting increase in output we must push our PPF outward.
· Increase labor – (increase the birth rate)
· Increase productivity – (technological advance)
Economic growth is an increase in output (i.e. and expansion of PPF).
Aggregate Supply Focus 

AS we have observe, the AS curve set limits to the demand side policy.

· The slope of the AS curve determine how much inflation we have to pay to obtain more output.

· In LR the position of AS curve limits total output.  To get more output in the long run, we have to shift the LR-AS.

Nominal vs. Real GDP

When thinking of economic growth we look only at real GDP

· Real GDP refers to the actual quantity of goods and services produced 

· Real GDP avoids the distortions of inflation by valuing output in constant prices.

II.
Growth Index 

The Growth Rate

Growth rate is the percentage change in real GDP from one period to another 

Growth Rate =
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The challenge for developed countries is to maintain a sustainable growth rate throughout time.  

The Exponential Process

An increase of a small percentage point can add up as the year pass because of exponential compounding.
Example:

1. Assume the growth rate is 1 percent and current real GDP is 1 Million.  In ten year the economy will be:

FV = $1 million (1+ .01)10 → $1 million (1.104622) = $1,104,622
2. Assume the growth rate is 2 percent and current real GDP is 1 Million In ten year the economy will be:

FV = $1 million (1+ .02)10 → $1 million (1.218994) = $1,218,994
3. Assume the growth rate is 3 percent and current real GDP is 1 Million In ten year the economy will be:

FV = $1 million (1+ .03)10 → $1 million (1.343916) = $1, 343,916

4. Assume the growth rate is 4 percent and current real GDP is 1 Million In ten year the economy will be:

FV = $1 million (1+ .04)10 → $1 million (1.480244) = $1,480,244

Economic growth is a continuing process.  Gains made in one year accumulate in future years (interest earns if the investment is kept in the bank).

Exponential process is the compounding growth rate of the economy as the years pass.
GDP per Capital: A Measure of Living Standards

GDP per capita is the total GDP divided by the total population; average GDP.

· Growth in GDP per capita is only attained when the growth of output out pace the growth in population.

If the GDP per capital grows, it implies that individuals in the given country are enjoying more goods and services than before.  Hence, they have a better standard of living.

Will we continue to enjoy substantial gains in living standards?  It all depends on how fast output continues to grow in relation to population.
The rule of seventy two (page 321) [approximately] tells you how long it take for the standard of living to double given the growth rate (g).

Denoted as:

Rule of 72 =
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GDP per worker: A Measure of Productivity 

Labor force is all persons over the age of 16 who are either working for pay or actively seeking paid employment.

Employment rate is the proportion of the adult population that is employed.
As the employment rate increases (100% is the max) the output per worker increases leading to and increase in the GDP per worker.

Productivity is the output per unit of input [in one hour] (e.g. output per labor hour).

· Historically, productivity gains have been the major source of economic growth.
III.
Source of productivity 

The sources of productivity gains are included in 

· Higher skills – an increase in labor skills

· More capital – an increase in the ration of capital to labor 

· Improved management – better use of available resources in production process.

· Technological advances – the development and use of better capital equipment.

Labor Quality
The individuals in the current economy have higher education than before and this human capital is more productive.

Capital Investment

Capital investment is a prime determinant of both productivity and growth.  More investment gives the average worker more and better tools to work with. 

Management 
Entrepreneurship and the quality of continuing management are major determinates of economic growth 

· Short-term profit vs. long-term productivity gains 

· Motivate – disgruntled or alienated are not as productive.

Research and Development (R&D)

If companies do not invest in creating the latest and greatest, they will never be a leader and will perish.

IV.
Policy Levers

Indeed, government policies can have a major impact on whether and how far the aggregate supply curve shifts.

Education and Training 

The quality of labor depends on the education and training.
· Government policies that support education and training contribute directly to growth and productivity 

Immigration Policy 

Create an immigration policy that set the quota given the emigrating countries’ education.

· The current immigration is of lower education level than the US population.
Investment Incentives 

Lower taxes encourage people to invest more – to build factories, purchase new equipment and construct new offices.

· Tax policy is not only a staple of short-term stabilization but a determinant of long-run growth as well.
· Lower capital gains taxes might stimulate more investment and encourage people to reallocate their assets to more productive uses.

Saving Incentives 

Saving is income minus consumption; the parts of disposable income not spend.  For a close economy and increase in investment requires and increase in savings.  

· It is the only way that firm can borrow more money for investment.

Supply-side economists favor tax incentive that encourage savings as well as greater tax incentives for investment.

Government Finances

Fiscal and monetary policies must be evaluated in terms of their impact not only on short-run aggregate demand but also on long-run aggregate supply.

Crowding out is a reduction in private sector borrowing cuased by increased government borrowing (deficits).

Crowding in is an increase in private sector borrowing caused by decreased government borrowing (surplus).

Deregulation 
The government intervenes directly in supply decision by regulating employment and output regulation.

· In general, such regulation limits the flexibility of producer to respond to changes in demand.
· It also raises production cons (think Marginal Social Cost)

Thus deregulation shifts the AS to the right.

Economic Freedom 

Establish and enforcement of property rights, legal rights, and political rights is the most important to ensure economic freedom.
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